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Unit 7, Day 13







Date: ______________ Period: _____
Mixed Practice
	1.  For each polynomial, use the Rational Root Theorem to:

 (i) list all possible rational zeros 
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	2.  Write a standard (expanded) form equation of a polynomial with the given zeros.

	a)  cubic, zeros:  x = –2, 1, –9

	b)  5th degree polynomial, zeros:  x = i, 4i, 0

	3.  Evaluate.

	a)  
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	4.  Simplify.  Answer in 
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	d)  
[image: image15.wmf]i

i

-

+

7

5



	5.  Use long division to find 
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	6.  Graph 
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.  Label all intercepts. 
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	Degree: _____ Zeros: ______________________

	7.  Solve for x.  You may have complex roots!

	a)  
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